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begin
comment to get the minimal optimal solutions
for the given non linear function by Wolfe’s
method;
real A, B, ALPH, BETA, TEMPO;
integer I, J, M, N, 10, JO, K;
array T(0:8, —3:16);
label L1,L2,L3, L4, L5 L6 L7 LG;
procedure SIMPLEX ; comment simplex trans-
formation ;
begin
integer I, J;
I:=M+N+2;
A:=0.0;
for J:=2 step 1 until 3xN+M+2 do
if T(I, D=0.0AA>T{-1,])
then begin
A:=T{-1,1);
JO:=]
end; comment JO is the pivotal
row ;
if A=0.0 then go to LG;
A:=1.0,0+15; comment very large
number ;
for I:=1 step 1 until M+N do
if T(I, JO)<0.0
then begin
B:=T(, 1)/ABS (T, JO));
if A>B then begin
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® 2%

BIFB 3 —2 -1 o 1 2 3 4 5 6 7 8 9 10 1 12 18 14 15 16
Basis ! 2 x2 xs X ve  vs vy ve w1 ur z2® 2 2t 2zl p
o¥1 0 0 [ 0| 0 | 1 {1001 1002 1003 1004 | 2001 2002 2003 2004 3001 3002 4001 4002 4003 4004 500
1w 0 0 | o ‘eom 6 | —2 -3 -1 1} 0 0 o © o0 o ©0 ©0 0 o0 O
2]wz;0‘0 0 |02 5 -1 -4 o0 -1] 06 0 0 O O ©0 O O O 0 0
3{z'| 0 o0 0700 0 -1 o0 ©6 ©0 1 0 o0 ©0 -2 -1 1 0 o o0 1
4|z 0 o 0 702 0 0o -1 o0 o‘ 0 1 0 0 -3 -4 0 1 0 o 2
5 ‘ | o o o 7003 o 0 0 0 0 0 0 1 0o -1 0 0 0 1 0 0
6 &' 0 0.0 704 0 o o o 0 o0 0 o 1 0 -1 0 1 0 1 0
7l s 0 0 0 90 11 -3 -7 -1 -1/ 0 0 o0 © 0o o 0 0 o o o
s> clz 2'2 2 1 o o o o0, 1 1 1 1 1 1 0 0 0 o0 1




214 5 #

10:=1
end
else begin
ifJA=BA((4000.0< T(1, 0D AT(I, 0)<5000.0) V
(6000.0< T(I, 0) AT(I, 0)<8000.0))
then 10:=1I
end
end; comment IO is the pivotal
column;
TEMPO :=T(0, JO);
T(0, JO) :=T(10, 0);

TN N . —TRMDN.
LUV, U)i=1LhT U,

T0, —1):=]J0;
for J:=1 step 1 until 3*xN+M+2 do
if J%¥JOAT (M+N+2, J)%2.0 then
begin
for I:=1 step 1 until M+N+1 do
if IxIO then
T, J):=T(, ID—TUO, D*T(1, JO)/
T(I10, JO)
end;
for J:=1 step 1 until 3xN+M+2 do
if J¥xJOAT(M+N+2, D*2.0
then T(IO, J):=-T(UO, J)/
T(I0, JO);
for I:=1 step 1 until M+N+1 do
if IxIO then
T, JO):=T(1, JO)/T(10, JO);
TdU0, JO):=1.0/T(0, JO)
end;
procedure ERASE; comment change base and
determine excluded rows;
begin integer I, J;
for I:=1 step 1 until M+N do
if T(I, —1)%0.0 then
begin
J:=entier (T(1, —1));
T(M+N+2, ):=2.0;
T(, —-1):=0.0
end
end;
procedure STORE; comment at elimination of
MU store previous result;
begin integer I, J;
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for I:=1 step 1 until M+N+2 do
begin T(I, —2):=T(, 1);
T, —3):=T(, 0)
end
end;
proceduer EXCHANGE; commen T insert 1 in
corresponding C-columns;
begin integer I, J;
for 1:=1 step 1 until M+N+1 do
for J:=2 step 1 until 3*xN+M+2 do
if 1000.0<T(I, 0)AT(I, 0)<2000.0

A(T(T OYLI1000 N =T(0 T

ANUANA, V)T IV = a\U, g/

AT(M+N+2, J)%2.0 then
T(M+N+2, J):=1.0;
for I:=1 step 1 until M+N+1 do
for J:=2 step 1 until 3¥N+M+2 do
if 2000.0<T(I, 0)AT(I, 0)<3000.0
A(T(L, 0)—1000.0)=T(I, 0)
ATM+N+2, J)*2.0
then TIM+N+2, J):=1.0
end;
procedure CLEAR; comment clear C-column
except MU-row;
begin integer J;
for J:=1 step 1 until 3*N+M+1 do
if TM+N+2, D=1.0
then T(IM+N+2, J):=0.0
end;
procedure LAYOUT 1;
format 1 (‘ X(4Z, DD)Y’, K);
procedure LIST 1 (ITEM 1);
for I1:=0 step 1 until M+N+2
for J:=—3 step 1 until 3*N+M+2 do
item 1 (T(I, I));
procedure LAYOUT 2;
format 1 (‘f, X(/, ‘X’, —DD, ‘=", —4Z.
8D)’, N);
procedure LIST 2 (ITEM 2);
for J:=2 step 1 until N+1 do
item 2 (T(1, 1));
INPUT 2 (1, ‘2(ZZD)’, M, N);
K:=Mx*N;
INLIST (1, LAYOUT 1, LIST 1);

L1: SIMPLEX; comment erase W(I) from base;
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for I1:=1 step 1 until M+N+1 do
toL1l;
for J:=N+2 step 1 until 2xN+M+1 do
T(M+N+2, J):=0.0;
ERASE;
for J:=2 step 1 until 3*N+M+1 do
if (4000.0<T(0, HDAT(O, J)<5000.0)
vV (7000.0<T(0, J)>T(0, J)<8000.0)
then TIM+N+2, J):=2.0;
EXCHANGE;
for J:=1 step 1 until 3*N+M+2 do
if TIM+N+2, J)*2.0;
then T(IM+N+1, J):=0.0;
comment clear S-columns;
for I:=1 step 1 until M+N+1 do
if (7000.0<T(I, 0)AT(I, 0)<8000.0)
Vv (4000.0< T(I, 0) AT(I, 0)<5000.0)
then begin
for J:=1 step 1 until 3+N+M+2 do
if TIM+N+2, I)%2.0 then
TM+N+1, D:=T(M+N+1, )
+T, D
end;
L 2: SIMPLEX; comment erase Z(1);
for 1:=1 step 1 until M+N+1 do
if (7000.0<T(1, O) AT, 0)<8000.0)
Vv (4000.0<T(I, 0) AT(I, 0)<5000.0)
then begin CLEAR;
EXCHANGE;
go to L2
end;
CLEAR;
ERASE;

EXCHANGE ; comment Erase MU=T(M+N+

1, 3¥N+M+2);
TM+N+2, 33sN+M+2):=0.0;
TM+N+1, 3sN+M+2):=—1.0;
for J:=1 step 1 until 3*xN+M+1 do
if TIM+N+2, I)*2.0
then T(IM+N+1, J):=0.0;

comment clear S-column;

L 3: STORE;
SIMPLEX;

Te IG5 ADN—D

if 6000.0<T(I, HATCL, 0)<7000.0 then go

it ABS (T(M+N+1, 1))<1.0
then begin CLEAR;

EXCHANGE;
go to L3
end;
for J:=2 step 1 until N+1 do
T, I):=0.0;

ALPH:=(T(M+N+1, D+1.0)/(T(M+N
+1, D—T(M+N+1, —2));
BETA:=(T(M+N+1, —2)+1.0)/(T(M+N
+1, —2)-T(M+N+1, 1));
L4:=for I1:=1 step 1 until M+N+1 do
if 1000.0<T(I, —3)AT(I, —3)<2000.0 then
begin
J:=T(, -3)—999.0;
T(1, J):=ALPH+T(, —2)
end;
for I:=1 siep 1 until M+N+4-1 do
if 1000.0<T(I, 0)AT(I, 0)<2000.0 then
begin
J:=T(, 0)—999.0;

T(1, J):=T{, D+BETAT,
end;
OUTLIST (2, LAYOUT 2, LIST 2);
go to L7;
LG: if TIM+N+2, 3#sN+M+2)*0.0
then begin

for I:=1 step 1 until M+N+1 do
if 5000.0=T(I, 0) then go to L5;
go to L6

end;

L5: ALPH:=1.0;

BETA:=—(T(M+N+1, —2)+1.0)/T(M+N

+1,1);
go to L 4;

L 6: output 0(2, ‘1 ‘sorry to I say, I cannot

solve this problem ”);

L7: end
2 ELR
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